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Aga Khan University Examination Board 

Notes from E-Marking Centre on HSSC-II Biology Examination May 2018 

Introduction: 

This document has been produced for the teachers and candidates of Higher Secondary 

School Certificate (HSSC-II) Part II Biology. It contains comments on candidates’ responses 

to the 2018 HSSC-II examination indicating the quality of the responses and highlighting 

their relative strengths and weaknesses. 

E-Marking Notes: 

This includes overall comments on students’ performance on every question and some 

specific examples of students’ responses which support the mentioned comments. Please note 

that the descriptive comments represent an overall perception of the better and weaker 

responses as gathered from the e-marking session. However, the candidates’ responses shared 

in this document represent some specific example(s) of the mentioned comments. 

Teachers and candidates should be aware that examiners may ask questions that address the 

Student Learning Outcomes (SLOs) in a manner that requires candidates to respond by 

integrating knowledge, understanding and application skills they have developed during the 

course of study. Candidates are advised to read and comprehend each question carefully 

before writing the response to fulfil the demand of the question. 

Candidates need to be aware that the marks allocated to the questions are related to the 

answer space provided on the examination paper as a guide to the length of the required 

response. A longer response will not in itself lead to higher marks. Candidates need to be 

familiar with the command words in the SLOs which contain terms commonly used in 

examination questions. However, candidates should also be aware that not all questions will 

start with or contain one of the command words. Words such as ‘how’, ‘why’ or ‘what’ may 

also be used. 
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General Observations: 

Candidates who did not score well were mostly unable to understand the demand of the 

question; often because they had not read the question carefully. At times, candidates 

responded by restating the stem of the question. Furthermore, understanding the use of 

scientific terminology and interpretation of unseen diagrams and graphs were also weak. 

However, candidates outdid in the concepts of thermoregulation, i.e. thermoregulation 

according to the habitat of animals, endocrinology (effects of hyper-secretion and hypo-

secretion of different hormones and their effect on the body), and Darwin’s theory of 

evolution, major ecosystems and types of interaction in ecosystem. Nonetheless, there is still 

room for improvement; mentioned below are few specific concepts that teachers need to 

focus in classrooms so that the candidates may perform better.  

a. Mechanism of muscle contraction 

b. Mendel’s law of independent assortment  

c. Gene therapy 

d. Difference between ovarian cycle and uterine cycle 
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Detailed Comments: 

Constructed Response Questions (CRQs) 

Question 1a: 

The given diagrams represent two types of foxes. Fox X lives in warm climatic 

conditions while fox Y lives in cold climatic conditions. 

 

 

 

 

 

 

 

a. Identify any TWO features of fox X adapted to warm climatic conditions. 

b. How do the features identified in part ‘a’ adapted to warm climatic conditions? 

Better responses wisely used the diagram to identify the correct features of fox X adapted to 

warm climatic conditions. Such responses identified the features that are apparent in the 

diagram, for example, presence of large ears as compare to the fox Y, fur layer on the body is 

comparatively thin, body is relatively covered with short hair and body is comparatively slim. 

Many of the candidates also mentioned credit worthy features that are not apparent in the 

diagram such as relatively thin subcutaneous fat/ relatively light coloured body fur/ nocturnal 

life style/ panting etc.  

In the second part of the question, better responses correctly described the way or mechanism 

by which the identified features help to adapt in warm climatic conditions, such as presence 

of large ears as compared to the fox Y to radiate large amount of heat/ vasodilation, thin layer 

of fur/ short hairs on the body is to trap less amount of air, comparatively smaller body size is 

to decrease metabolic rate so that less amount of heat is produced, thin layer of subcutaneous 

fat is to reduce insulation/ light coloured fur is reflect light. 

 

 

 

 

Fox Y Fox X 
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Example (a): 

 
 

Example (b):  

 

Weaker responses were not able to use the stimulus intelligently. Such responses identified 

features that are irrespective of the given condition.   

Candidates are advised to carefully focus on the given stimulus before drafting their answers.  

Many of the candidates failed to score good marks in the second part of the question; 

because, these candidates did not describe the way through which the identified features help 

in adaptation to the warm climatic condition. Such responses exhibited lack of relevancy with 

the given stimulus and with the question.  
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Example (a): 

 

Example (b):  

 

 
 

 

Better responses correctly mentioned the reason of equal concentration of glucose in the renal 

artery and the renal vein, i.e. due to the reabsorption of glucose molecules in the proximal 

convoluted tubule of nephron.  

Similarly, better responses correctly mentioned the reason of less concentration of urea in the 

renal vein as compared to the renal artery, i.e. because urea is removed/ excreted in the form 

of urine/ urea is excreted from the collecting duct or limited reabsorption of urea in collecting 

duct. 

Question 2a: 

The following table shows the approximate concentration of glucose and urea in the renal 

artery and the renal vein. 

 Concentration in the Renal 

Artery (mg/dL) 

Concentration in the Renal 

Vein (mg/dL) 

Glucose 70 70 

Urea 20 10 

Give reason for 

i. equal concentration of glucose in the renal artery and the renal vein. 

ii. less concentration of urea in the renal vein as compared to the renal artery. 



Page 6 of 36 

Example (i): 

 

Example (ii): 

 

Weaker responses revealed candidates’ carelessness in reading the stimulus and question, 

which led to misinterpretation of the given stimulus. In the first part of the question, most of 

the candidates mentioned the benefits of glucose or the process of filtration in the nephron; 

similarly in the second part of the question, toxicity of urea was described.  

Example 1: 

 

Example 2: 

 

Question 2b: 

Adnan is diagnosed with hyper-secretion of glucocorticoids in his body. 

Mention TWO physiological effects of hyper-secretion of glucocorticoids on Adnan’s 

body. 
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Better responses correctly mentioned the physiological effects of hyper-secretion of 

glucocorticoids such as weakening of muscles and bones due to excessive breakdown of 

proteins/ increase in the blood glucose level that my result in diabetes/ low protein level in 

the body/ buffalo hump/ obesity/etc. 

Example: 

 

Weaker responses mentioned irrelevant and generalised answers such as weakened body/ 

lethargic body/ high fever/ illness/ nausea etc. Many of candidates misinterpreted the key 

term ‘hyper-secretion’ and stated effect of hypo-secretion; like, decreased metabolism of 

proteins. 

Example 1: 

 

Example 2: 
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Question 3a: 

The given diagrams show two forms of chromatin present in the nucleus of eukaryotes. 

 

 

 

 

 

Which form of chromatin is transcriptionally more active (can be expressed) and why? 

Better responses exhibited familiarity with different forms of chromatin; therefore, were able 

to correctly identify diagram that shows the transcriptionally active chromatin, i.e. diagram I. 

Furthermore, these responses correctly provided reason of their identification by stating the 

loosely packed nucleosomes/ exposed DNA/ uncondensed DNA/ less coiled DNA which 

facilitates the transcription etc. 

Example: 

 
 

Weaker responses were unable to identify the transcriptionally active chromatin may be due 

to unfamiliarity with the diagram. This also revealed the candidates’ weaker concepts in 

understanding the structure of DNA and relating the structure of DNA with the process of 

transcription. 

Example: 

 

Diagram I Diagram II 

Nucleosome Nucleosome 
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Question 3b:  

While travelling from nucleus to the cytoplasm, newly synthesised messenger ribonucleic 

acid (mRN (mRNA) in eukaryotic cell encounters different degrading enzymes. 

How is this mRNA modified to protect itself from the degrading enzymes?  

Better responses correctly drafted the way through which mRNA is modified to protect itself 

from the degrading enzymes by stating the addition of a ‘cap’or 7 methyl GTP and a ‘tail’/ 

poly-A tail while travelling from nucleus to cytoplasm. 

Example: 

 

Weaker responses misinterpreted the given stimulus in the question and described the 

structural features of mRNA. Such responses also revealed candidates’ lack of understanding 

of the process of transcription. 

Example: 

 

Question 4a: 

When nervous stimulation at neuromuscular junction stops, 

i. what will be the action of tropomyosin molecules? 

ii. what will be the result of action of tropomyosin molecules on the myosin heads? 

iii. which organelle will store calcium ions? 
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Better responses showed clear understanding of the mechanism of muscle contraction starting 

from the nervous stimulation to the completion of cross-bridge cycle. Such responses used 

appropriate biological vocabulary related to the mechanism.  

In the first part of the question, better responses stated the blockage of the binding sites 

present on the actin filament by tropomyosin. 

In the second part of the question, better responses correctly mentioned the effect of the 

action of tropomyosin molecules on the myosin heads by stating the inability of myosin head 

to bind with actin filament/ detachment of myosin head. 

In the third part of the question, better responses correctly named the organelle that is 

sarcoplasmic reticulum. 

Example: 

 

Weaker responses failed to relate the effect of nervous stimulation at the neuromuscular 

junction with the cross-bridge cycle, therefore, were unable to provide correct answer. This 

also revealed candidates’ rote learning of mechanism of muscle contraction. Moreover, most 

of the candidates did not use specified scientific vocabulary relevant to the mechanism such 

as endoplasmic reticulum was mentioned instead of sarcoplasmic reticulum.   

Example 1: 
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Example 2: 

 

Question 4b: 

Which part of a plant contains intercalary meristematic tissues? What is the function of 

intercalary meristematic tissues? 

Better responses correctly identified the part of plant which contains intercalary meristematic 

tissues, i.e. bases of internodes and also correctly stated their function, i.e. they function in 

the production of leaves/ flowers. 

Example: 

 

Weaker responses displayed candidates’ carelessness in reading the question properly. Most 

of these responses provided detailed description of the function of meristematic tissues in 

general. Thus, these responses were not able to meet the demand of the question. Moreover, 

candidates failed to specify the function of intercalary meristematic tissues and gave incorrect 

functions such as help in gaseous exchange.   

Example 1: 
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Example 2: 

 

Question 5: 

The given diagram illustrates two possibilities of non-disjunction in oogenesis. 

 

 

 

 

 

 

 

 

 

 

 

 

a.  What would be the distribution of X chromosomes at meiosis I, if meiosis I takes place 

 normally? 

b.  Which types of syndrome will appear in the offspring if a sperm having 

 i.  Y chromosome fertilises secondary oocyte A? 

 ii.  X chromosome fertilises secondary oocyte B? 

c.  What will be the gender of the offspring produced as a result of the fusion of a sperm      

 having X chromosome with the secondary oocyte B? 

Better responses displayed clarity in the understanding of chromosomal distribution during 

meiosis. Furthermore, candidates have properly used the biological vocabulary in the relevant 

answers. 

In part a of the question, better responses correctly mentioned the distribution of 

chromosomes, i.e. one X chromosome will move to the secondary oocyte and another X 

chromosome will move to polar body. Moreover, some other credit worthy responses drew 

the equal distribution of chromosomes in the polar body and secondary oocyte.  

Meiosis II 

Meiosis I 

Meiosis II 

Possibility I 

Meiosis I 

Oocyte 

 
X Chromosome 

Polar 

Body 

 

 

 

 

 
 

 

Oocyte 

Secondary Oocyte 

A 

Secondary Oocyte 

B 

  

Possibility II 
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Example (a): 

 

Better responses of part b revealed good knowledge of biological vocabulary such that these 

responses correctly named each type of syndrome, i.e. Klinefelter’s syndrome will appear if a 

sperm containing Y sex chromosome fertilises secondary oocyte A and Turner’s syndrome 

will appear if a sperm having X sex chromosome fertilises secondary oocyte B. 

Example (b): 

 
 

Better responses of part c correctly identified the gender, i.e. female. 

Example (c): 

 

Weaker responses indicated candidates’ lack of understanding of the chromosomal 

distribution in meiosis and insufficient knowledge of biological vocabulary. Furthermore, 

some misconceptions were evident such as; polar bodies do not receive chromosomes during 

the process of meiosis. 
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Example (a):  

 

Example (b): 

 

Example (c): 

 

Question 6a: 

The given dihybrid cross of pea plant shows the appearance of 50 percent of parental type 

and 50 percent recombinant type offspring. 

Parents: 

Round Yellow × Wrinkled Green 

RrYy × rryy 

Gametes: RY, Ry, rY, ry × ry 

 

Filial 

Generation: 

RrYy 

Round Yellow 

Rryy 

Round Green 

rrYy 

Wrinkled 

Yellow 

rryy 

Wrinkled 

Green 

i. State the Mendel’s law which supports the appearance of recombinant type offspring. 

ii. Describe the application of the stated Mendel’s law in the given situation. 
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Better responses exhibited candidates’ good understanding of Mendel’s law. Such responses 

smartly interpreted the given situation in the stimulus to reach to the correct answer, i.e. 

Mendel’s law of independent assortment. Furthermore, candidates have correctly described 

the Mendel’s law of independent assortment in the given situation. 

Example (i): 

 

Example (ii): 

  

Weaker responses reflected candidates’ misconception in Mendel’s law of independent 

assortment and Mendel’s law of segregation. Many of the candidates incorrectly identified 

Mendel’s law of segregation in the first part of the question. Moreover, in the second part of 

the question, genetic diversity was explained. 

Example 1: 
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Example 2: 

  

Question 6b: 

Red coat colour in cattle is codominant with white coat colour. As a result of cross between 

these two different coloured cattle, all offspring produced have roan colour. 

Determine the genotypes of offspring that will be produced as a result of cross between 

two roan coat coloured cattle. 

Better responses correctly demonstrated the genetic cross to determine the genotype of 

offspring. These responses correctly selected the genotypes of parents such as Rr and Rr, 

therefore, were able to determine the genotype of offspring, i.e. RR: Rr : Rr : rr. However, 

some of the candidates demonstrated the genetic cross as a rough work and mentioned the 

genotype of offspring. 

Example: 
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Weaker responses described the phenotypes of parents. Some of the candidates reproduced 

the stem and others mentioned the resultant phenotypic ratio of expected offspring, i.e. 1:2:1/ 

one red coat coloured, two roan coat coloured and one offspring with white coat colour. 

These responses overlooked the key term, i.e. genotype mentioned in the question, therefore, 

mentioned the phenotypic ratio. 

Example: 

 

Question 7a: 

 Retrovirus 

 RNA version of cloned normal gene 

 Culture of stem cells from bone marrow having defective  gene 

Using the given information, outline the process of gene therapy. 

Better responses intelligently used the information given in the stem to draft their answer. 

Moreover, such responses coherently composed each step with appropriate brief description. 

For example, the process of gene therapy was outlined in this way. Insertion of RNA version 

of normal gene into retrovirus/ formation of Recombinant DNA, infect stem cells having 

defective gene by retrovirus carrying normal gene, insertion of viral DNA carrying normal 

gene into chromosome of stem cell and injection of genetically engineered stem cells into 

bone marrow. 

Example: 
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Weaker responses were not able to use the given information properly. However, most of the 

candidates drafted memorised process of gene therapy. Some other candidates struggled to 

organise their answers according to the process of gene therapy. 

Example 1: 

 

Example 2: 

 

Question 7b: 

i. What is the genetic basis of cystic fibrosis? 

ii. How are respiratory passages affected in a patient suffering from cystic fibrosis? 

Better responses correctly mentioned the genetic basis of cystic fibrosis by stating its cause, 

i.e. lack of gene that codes for trans-membrane carrier of the chloride ion/ mutations in 

the gene that produces the cystic fibrosis trans-membrane conductance regulator (CFTR) 

protein.  

In the second part of the question, better responses revealed clear understanding of the reason 

and the way that affect the respiratory passages of a patient. Such responses mentioned the 

accumulation of mucus in the respiratory passages of a patient and further it was described 

that the cilia cannot easily move the thick and sticky mucus out of the respiratory passages. 

The mucus clogs the air passages, causing chronic cough and lung infections. Repeated lung 

infections can lead to lung damage, causing breathing problems and difficulty getting enough 

oxygen into the body. 



Page 19 of 36 

Example: 

 

Weaker responses overlooked the main key terms given in the question such as ‘genetic 

basis’ and ‘effect on the respiratory system’. These responses provided answers regardless of 

the relevancy to the key terms. For example, in the first part of the question, cystic fibrosis is 

considered as pathogenic disorder and in the second part of the question, respiratory 

infections were described. 

Example 1: 

 

Example 2: 

 

Question 8: 

With reference to Darwin’s theory of evolution, describe the following: 

a. descent with modification 

b. natural selection 
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Better responses correctly described the Darwin’s theory of evolution with reference to 

descent with modification by mentioning the unity of life and the diversity of life which 

shows animals are emerging from ancestors and diversify by adapting different environments. 

Similarly, natural selection is described by highlighting the inheritance of strong traits/ 

survival of fittest / struggle for existence of animals and high rate of reproduction of the 

fittest animals. 

a. 

Example 1: 

 

Example 2: 

 

b.  

Example 1: 
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Example 2: 

 

Weaker responses provided incomplete answers in each case such as with reference to 

descent with modification, most of the candidates did not highlight the common ancestor, 

which is an important part of the description and thoroughly described modification.    

Likewise, partial description was also given with reference to natural selection. In this case, 

most of the candidates mentioned high rate of reproduction. 

a: 

Example 1: 

 

Example 2: 
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b: 

Example: 

 

Question 9: 

a. Name the coniferous forests that are located at: 

 i. high altitude 

 ii. high latitude 

b. How is flora of the coniferous forests adapted to the longer and colder winters? 

c. Name any TWO regions where coniferous forests are located in Pakistan. 

Better responses in part ‘a’ of the question, correctly named the coniferous forests located at 

high altitude and latitude, i.e. alpine and boreal respectively. 

Example: 

 

In part ‘b’, better responses correctly mentioned the mechanism of adaptation of the 

coniferous forests to the longer and colder winter by mentioning the formation of thick waxy 

needle like leaves. 

Example: 

 

In the part ‘c’ candidates correctly named the regions of Pakistan where coniferous forests are 

located such as Kaghan, Swat (Mallam Jabba), Dir, and Chilas. 
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Example: 

 

Weaker responses wrongly named coniferous forests that are located at high altitude and 

latitude. Some of the candidates stated names of types of ecosystem. 

Example 1: 

 

Example 2: 

 

In the second part of the question, most of the candidates described the climatic condition, 

fauna, flora and geographical distribution of the coniferous forest. 

Example 1: 

 

Third part of the question reflected candidates’ lack of knowledge about distribution of 

coniferous forests in the context of Pakistan. 

Example: 
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Extended Response Questions (ERQs) 

The following questions (10 and 11) offered a choice between part a and b. 

 

In question 10, most candidates chose to attempt part ‘a’. This shows their interest and better 

understanding of ‘Endocrinology; effects of hypo-secretion of different hormones and their 

effects on the body as compared to the understanding of ‘menstrual cycle of human female’ 

which was asked in part ‘b’.  Similarly, in question 11, part ‘b’ was preferred over ‘a’. This 

indicates that candidates are more confident in environmental issues rather than type of 

ecological interactions. 

Question 10a: 

i.  What is the site of formation of antidiuretic hormone (ADH)? 

ii.  Describe any ONE function and any ONE disorder caused by the hypo-secretion of: 

 Somatotrophin hormone (STH) 

 Gonadotrophic hormone (GTH) 

 Antidiuretic hormone (ADH) 

Better responses correctly identified the site of formation of antidiuretic hormone, i.e. 

hypothalamus. 

In the second part, better responses revealed strong grip on the physiology of hormone and 

candidates articulated their answer very efficiently by correctly describing the function and 

disorder caused by hypo-secretion of each hormone. Such responses mentioned the function 

of Somatotrophin hormone, i.e. it stimulates the growth of essentially all tissues of the body, 

including bone, protein synthesis and increases fat breakdown to provide the energy 

necessary for tissue growth. It also antagonises (opposes) the action of insulin. GTH may act 

directly on tissues, but much of its effect is mediated by stimulation of the liver and other 

tissues to produce and release insulin-like growth factors. The hypo-secretion of 

somatotrophin hormone causes short stature and dwarfism. Furthermore, the function of 

gonadotrophic hormone included stimulation of the gonads, or sex glands, to carry out their 

reproductive or endocrine functions. The hyposcretion of gonadotrophic hormone causes 

infertility in females and males. 

The functions of Antidiuretic hormone included the control of blood pressure by acting on 

the kidneys and the blood vessels; conserve the fluid volume of the body by reducing the 

amount of water passed out in the urine. Low levels of anti-diuretic hormone will cause the 

kidneys to excrete too much water. Urine volume will increase leading to dehydration and a 

fall in blood pressure/ diabetes insipidus. 

 

https://www.britannica.com/science/growth-biology
https://www.britannica.com/science/bone-anatomy
https://www.britannica.com/science/protein
https://www.britannica.com/topic/fat
https://www.britannica.com/science/insulin
https://www.britannica.com/science/liver
http://www.yourhormones.info/glands/kidneys/
http://www.yourhormones.info/glossary/e#excrete


Page 25 of 36 

Example: 
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Weaker responses demonstrated a general trend in incorrectly identifying the site of 

formation of antidiuretic hormone. Such responses incorrectly named the pituitary gland.  

In the second part of the question, most of the candidates somehow correctly mentioned 

function of given hormones. However, many of the candidates misinterpreted the meaning of 

hypo-secretion and described disorders caused by hyper-secretion of given hormones. 

Candidates are highly recommended to emphasise on the vocabulary used in physiological 

concepts such as hyper-secretion/ hypo-secretion/ site of formation of any hormone/ source of 

storage of any hormone. 

Example 1: 
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Example 2: 
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Question 10b: 

The given diagram shows events of the ovarian cycle in human female. 

 

 

 

 

 

 

i. Which phase of uterine cycle occurs simultaneously with each event of the ovarian 

 cycle mentioned above? 

Ovarian Cycle Uterine Cycle 

Event I  

Event II  

Event III  

 

ii. Describe the hormonal effect of events I and III of ovarian cycle on the thickness of 

 the endometrium. 

Better responses revealed accurate understanding of the stimulus and key terms given in the 

question. Such responses correctly identified the phases of uterine cycle such as event I of 

ovarian cycle correlates with the menstrual phase of uterine cycle, event II correlates with the 

proliferative phase of uterine cycle and event III of correlates with the secretory phase of 

uterine cycle. 

In the second part of the question, clear understanding of hormonal effect of ovarian cycle on 

the uterine cycle is exhibited. Such responses correctly used the biological terms and names 

of hormones while drafting their answers. The hormonal effect of event I on endometrium is 

the decreased level of progesterone causing shedding of uterine wall therefore, uterine 

thickness declines. Likewise, hormonal effect of event III on endometrium was described as, 

endometrium continues to grow with decreased FSH and increased level of estrogen and 

release of progesterone from the corpus luteum further increases thickness of endometrium. 

Event I Event II Event III Event I 
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Example: 
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Weaker responses indicated candidates’ inability to relate the ovarian cycle with the uterine 

cycle. From these responses, an overall trend of misunderstanding of uterine and ovarian 

cycle was apparent. These responses were unable to differentiate between both cycles, thus, 

gave generalised answers.    

In the second part, candidates provided memorised description of menstrual cycle; 

irrespective of the given stimulus.  

Example: 
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Question 11a: 

Describe any TWO examples of positive ecological interaction and any TWO examples of 

negative ecological interaction in an ecosystem. 

Better responses showed clear understanding and good knowledge of examples of positive 

and negative ecological interactions. Some other credit worthy responses first defined the 

type of ecological interaction and then described the association between organisms. There 

was good variety of examples different responses. Most frequently appeared examples were 

mutualistic association between lichen a species of algae and a species of fungus/ symbiotic 

association between bacteria and legumes plants/ mutualistic association between 

Trichonympha and termite/ association between spider crab and algae.  

Example: 
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Weaker responses were able to mention the correct example but struggled to describe the 

interaction in the example they provided. Some of the candidates swapped the examples of 

positive and negative ecological interactions. Few other responses described the interaction 

with irrelevant examples. Many of the candidates described afforestation, deforestation and 

global warming. Some other weaker responses elaborated the meaning of positive and 

negative terms. 

Example: 
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Question 11b: 

i. Describe the phenomena of greenhouse effect and acid rain considering methane and 

sulphur dioxide as their main sources respectively. 

ii. Mention any TWO effects of global warming and any TWO effects of acid rain. 

Better responses correctly stated the role of methane that act as a sheet of greenhouse in 

atmosphere; such as, after absorbing the sun rays it does not permit them to escape back. 

Thus, this action of methane results to increased temperature of earth. 

Sulphur dioxide combines with water vapours in the atmosphere to form acids like 

sulphurous acid and sulphuric acid. After sometime, these acids fall on ground in the form of 

rain or microscopic particles. 

In the second part of the question, better responses correctly mentioned the effects of global 

warming such as melting of snow or ice/ raises sea levels/ causes stronger storms/ causes 

extreme weather while that of acid rain as it washes nutrients from soil/ destroys both aquatic 

and terrestrial life/ destroys crops/ causes erosion of monuments/ skin diseases.  

Example: 
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Weaker responses were unable to meet the demand of the question. Most of the responses, 

instead of describing greenhouse effect, described the process and significance of greenhouse 

made up of glass or plastic for the production of vegetables. Some of the responses described 

causes and effects of ozone depletion. 

In the second part of the question, weaker responses stated generalised points such as global 

warming and acid rain cause death/ make environment polluted/ affect organisms.  
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Example: 

 

 


